
© www.theteachersguide.com 

Name:________________________

Area  
        Directions:  Find the area of the entire rectangle (shaded and unshaded portions together).  
Subtract the area of the unshaded portion to find the area of the shaded portion. 
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Area of enƟre rectangle is 6 x 7 = 42 square units. 

 

Area of unshaded porƟon is 3 x 3 = 9 square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 

Area of enƟre rectangle is  ___  x  ____ =  ____ square units. 

 

Area of unshaded porƟon is  ___  x  ___  =  ____ square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 

Area of enƟre rectangle is  ___  x  ____ =  ____ square units. 

 

Area of unshaded porƟon is  ___  x  ___  =  ____ square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 
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Area of enƟre rectangle is  ___  x  ____ =  ____ square units. 

 

Area of unshaded porƟon is  ___  x  ___  =  ____ square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 

Area of enƟre rectangle is  ___  x  ____ =  ____ square units. 

 

Area of unshaded porƟon is  ___  x  ___  =  ____ square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 

Area of enƟre rectangle is  ___  x  ____ =  ____ square units. 

 

Area of unshaded porƟon is  ___  x  ___  =  ____ square units. 

 

Area of shaded porƟon is  ____  -  ____  =  ____  square units. 


